SKkill: Subtract 10 from numbers under 50

ANSWERS

12-10= 2 i 31-10=
i

38-10= 28 : 22-10 =
!
|

42 -10= 32 i 35-10 =
i

17 - 10 = 7 | 34-10=
i

39-10= 29 [ 33-10=
:
|

20-10 = 10 E 32-10=
i

43-10= 33 | 45 - 10 =
i

26 - 10 = 16 | 27 -10 =
i

38-10= 28 | 48 - 10 =
:
|

29-10= 19 i 29-10 =
|
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Skill: Subtract 10 from numbers under 50

Name:

12 -10 = i 31-10 =
i

38-10 = | 22 -10 =
i

42 -10 = ! 35-10 =
:
|

17 - 10 = l 34-10=
l
|

39-10 = | 33-10=
i

20-10 = | 32-10=
i

43-10= ! 45 -10 =
:
|

26 -10 = I 27 -10 =
:
l

38-10 = | 48 - 10 =
i

29 -10 = : 29 -10 =
|
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